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Part A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark your answer sheet.

Mrs. Harding herself was thin and frail but her son was a sixteen-year-old.

1) unbearable 2) verbose 3) sturdy 4) lethargic

Some tribes still the more remote mountains and jungles of the country.

1) forego 2) inhabit 3) ensue 4) aggravate

The of coffee brought Christine into the small cafe.

I) aroma 2) fragility 3) whim 4) badge

The client our proposal because they found our presentation banal and

unimpressive.

1) recognized 2) emulated 3) hailed 4) rejected

Immediately overcome by for the wrong he had done, I lowered him to the floor

and tried to apologize.

1) remorse 2) charity 3) stubbornness 4) esteem

A health inspector gave instructions on how to correct the problem; we all found

out how to handle the situation.

1) perpetual 2) rudimentary 3) explicit 4) trivial

| the cold I was getting by taking plenty of vitamin C pills and wearing a scarf.

1) vanished 2 )squandered 3) forestalled 4) penetrated

Why would Ian want to claim his inheritance and then give all his money away? It was a
to me.

1) riddle 2) peril 3) glory 4) fragment

He was later accused of writing loan and deposit records, found guilty and

sentenced to three years of imprisonment.

1) essential 2) fraudulent 3) vulgar 4) witty

The question of how the murderer had gained entry to the house the police for

several weeks.

_1) exhilarated 2) assailed 3) countered perplexed

Part B: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark your answer sheet.

Scuba diving is a form of underwater diving in which a diver uses a self-contained
underwater breathing apparatus (scuba) to breathe underwater.

Unlike other modes of diving, (11) rely either on breath-hold or on air pumped from
the surface. scuba divers carry their own source of breathing gas, (usually compressed air).
(12) greater freedom of movement than with an air line or diver’s umbilical and longer
underwater endurance than breath-hold. Scuba equipment may be open circuit. in which
exhaled gas (13) the surroundings, or closed or semi-closed circuit. (14)
is scrubbed to remove carbon dioxide, and (15) replenished from a supply of feed gas
before being re-breathed.

1) that 2) on which they 3) which 4) they

1) allowing them 2) they allow 3) allowed them 4) 1o allow

1) exhausts 2) is exhausted to 3) exhausting 4) be exhausted
1) where the gas breathing 2) which breathes the gas

3) the breathing gas which 4) in which the breathing gas

1) the oxygen is used 2) the oxygen used is

3) uses the oxygen to be 4) used is the oxygen
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PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the
best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

Reading 1

A growing number of companies are finding that small-group discussions allow them to
develop healthier ways to think about work. People at all levels of the corporate structure are
starting groups that meet weekly or monthly to talk over ways to make workplaces more
ethical and just.

Several factors must be present for small-group discussions to be successful. First, it is
important to put together the right group. Groups work best when they consist of people who
have similar duties, responsibilities. and missions. This does not mean, however. that everyone
in the group must think in lockstep.

All participants should agree on the group's purpose. Finding the right subject matter is
essential. There are several ways to fuel the discussion: by using the company's mission
statement, by finding readings on work and ethics by experts in the topic, or by analyzing
specific workplace incidents that have affected the company or others like it.

Finally, the dynamics of the group should be balanced. and the discussion leader must not be
allowed to overwhelm the conversation or the agenda. Groups work best when the same person
is not always in charge. It is better to rotate the leadership for each meeting and let that leader
choose the material for discussion.

What is the passage mainly about?

1) How companies should think about work

2) Why companies should start small-group discussions

3) How small-group discussions can be successful at workplaces

4) The characteristics of successful companies and work groups

The word "fuel" in line 10 is closest in meaning to -=------- .

1) stimulate 2) categorize 3) sequence 4) conclude
According to the passage, all of the following affect the success of small-group discussions
EXCEPT -------nenen- .

1) group members agree on the group’s goal

2) people who have similar responsibilities form a group

3) the leader of the group dominates the discussion

4) the group leader decides on the material for discussion

According to the passage, groups work best when ------e—eeeeev,

1) groups meet weekly

2) group members think in the same way

3) the leadership is rotated for each meeting

4) people from all levels of the corporate are put in the same group

What is the writer’s attitude toward small-group discussions?

1) Indifferent 2) Objective 3) Persuasive 4) Critical
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Reading 2

Conflict within an organization is not always viewed as undesirable. In fact. various
managers have widely divergent ideas on the value that conflict can have.

According to the traditional view of conflict, conflict is harmful to an organization.
Managers with this traditional view of conflict see it as their role in an organization to
rid the organization of any possible sources of conflict.

The interactionist view of conflict, on the other hand, holds that conflict can serve an
important function in an organization by reducing complacency among workers and
causing positive changes to occur. Managers who hold an interactionist view of conflict
may actually take steps to stimulate conflict within the organization.

How is the information in the passage organized?

1) Two theorists discuss the strengths and weaknesses of their views on conflict.
2) Examples of conflict within organizations are presented.

3) The origin of ideas about conflict is presented.

4) Contrasting views of conflict are presented.

The word "divergent" in line 2 is closest in meaning to —------——--,
1) different 2) original 3) critical 4) strong
According to the passage, managers -——----———----,

1) always view conflict as undesirable

2) try anything to remove sources of conflict

3) use conflict to deal with work satisfaction on the part of workers

4) differ in terms of how they look at organizational conflict

What type of information is included in the third paragraph?

1) A comparison of the interactionist and traditional views of conflict

2) A description of one of the opposing views of conflict

3) A discussion of the weaknesses of the interactionist view of conflict

4) An outline of the type of manager who prefers the interactionist view of conflict
According to the passage, managers who prefers the interactionist view of conflict -----—-,
1) promote contlict within the organization

2) consider job satisfaction a very important factor

3) believe conflict creates problems for the organization

4) are in faver of any change that might occur in the organization

Reading 3

Even the best plans are rarely carried out without some problems. Good managers learn to
deal with problems as they come up. They make decisions as they are needed and adjust plans
when necessary. Flexible plans allow for several contingencies. Contingencies are events that
might affect what you plan to do, but rarely are out of your control. For example, rain is a
contingency that might affect the success of an outdoor event. Trying to move indoors at the
last minute could be a disaster. Therefore. your plan should include a "rain plan."”

An important part of dealing with contingencies is making sure that all your resources are not
scheduled for use. You need to reserve some money and time for the unexpected. If you budget
your money down to the last penny. you might not be able to take advantage of a bargain that
you suddenly hear about. Similarly, if you schedule your time too tightly, you might not be
able to deal with those "unexpected events" that always seem to happen.
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Which of the following best describes the organization of the passage?
1) The author presents the advantages and disadvantages of dealing with contingencies.
2) The author persuades managers to save money and time.

3) The author describes making plans at companies.

4) The author explains how managers deal with problems.

Why does the author mention rain in the fist paragraph?

1) To tell the managers to consider every possibility while making decisions
2) To emphasize how disastrous unexpected events could be

3) To narrate a story about a possible contingency

4) To introduce a contingency for a particular plan

According to the passage, the writer believes that -----——-,

1) contingencies are unmanageable

2) possible contingencies must be considered when making plans

3) good managers always carry out their plans as they are made

4) very little money and time must be reserved for the unexpected events
The word "they" in line 2 refers to ---------—- .

1) decisions 2) managers 3) problems 4) plans
Which of the following questions does the passage answer?

1) Are flexible plans without problems?

2) Should managers deal with contingencies?

3) How should contingencies be avoided?

4) What may happen if contingencies are not dealt with?
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